SAFEGUARD. LITHOUSA SPECIAL COSMITTAN

Voucher:

Tran:

Date:

CITY OF GOLD BAR

**CHECK** 

City Of Gold Bar

1 Checking

Account: Check:

014773

Amount:

5,325.00

14773

Weed Graafstra & Benson Inc Ps To:

21 Avenue A

05/19/2009

Snoohomish, WA 98290-2944

694

For: April 09

Weed, Graafstra & Benson, Inc., P.S. 21 Avenue A Snohomish, WA 98290-2962 360-568-3119 Fax 360-568-4437 Fed ID # 91-0867190



City of Gold Bar 416 Orchard Gold Bar WA 98251-0107 Page: 1
April 30, 2009
Account No: 3014M

s Balanc	Payments	Advances	Expenses	Fees	Previous Balance
\$4,968.0	-5,044.00	0.00	0.00	4,968.00	RE: General 5,044.00
\$357.0	0.00	0.00	0.00	357.00	RE: Litigation 0.00
\$5,325.0	-5,044.00	0.00	0.00	5,325.00	5,044.00

Law Offices of Weed, Graafstra & Benson, Inc., P.S. 21 Avenue A Snohomish, WA 98290-2962 360-568-3119 Fax 360-568-4437 Fed ID # 91-0867190

City of Gold Bar 416 Orchard Gold Bar WA 98251-0107

Page: 1 April 30, 2009

3014-00M Account No:

Statement No:

39

RE: General

## Fees

03/31/2009		Rate	Hours	
CLB	Write email to Mayor and Thom Graafstra re: PRA Block charging memo and Majerle; write email to Laura Kelly.	150.00	0.40	60.00
CLB	Conference with Thom Graafstra re: Crittenden email and Block v. Gold Bar.	150.00	0.10	15.00
THG	Read 4 emails; conference with C. Beyer re: Block re: Block litigation PRA's; draft memo to Cr. Handen.	150.00	1.40	210.00
04/01/2009 THG	Memorandum to Mayor and Council.	150.00	1.10	165.00
04/02/2009 CLB	Read documents drafting exemption log PRA Crittenden 030909.	150.00	2.00	300.00
04/03/2009 CLB	Telephone call to Mayor; telephone call with Laura Kelly re: PRA Charging memo; draft response, email City.	150.00	0.50	75.00

April 30, 2009 Account No: 3014-00M

Statement No: 39

RE: General

CLB	Read documents drafting exemption log and	Rate	Hours	
	response letter; email Crittenden and City.	150.00	2.50	375.00
04/06/2009 THG	Telephone call to/from Cheryl Beyer; read 4-7 agenda, 3 emails and attachments Block; memo to City; email L. Kelly.	160.00	0.90	144.00
CLB	Telephone call to Thom Graafstra; revise attorney memo to Mayor and Council; write email to City.	160.00	1.35	216.00
04/07/2009 THG	Conference with Cheryl Beyer re: executive			
1110	session.	160.00	0.20	32.00
CLB	Preparation and attendance at Gold Bar Council meeting executive session.	160.00	2.00	320.00
04/09/2009 CLB	Draft response to Crittenden email, send email to			
QL5	Thom Graafstra and Mayor.	160.00	0.75	120.00
CLB	Read email and letter from William Crittenden dated April 9, 2009; respond via email to William Crittenden; write email to Mayor and Clerk.	160.00	0.25	40.00
THG	Read papers, letters from Crittenden; email C. Beyer.	160.00	0.40	64.00
04/10/2009				
THG	Telephone call from C. Beyer re: Crittenden; Mayor Hill.	160.00	0.40	64.00
THG	Edits to email to Crittenden; email C. Beyer and Mayor Hill.	160.00	0.25	40.00
THG	Read Agenda - workshop notice; email re: OPMA.	160.00	0.25	40.00

RE: General

Page: 3 April 30, 2009 o: 3014-00M

Account No:

Statement No:

39

04/13/2009		Rate	Hours	
THG	Telephone call to C. Beyer (2x); read Hill email, Beyer email re: settlement; research re: attorney client privilege.	160.00	1.20	192.00
04/14/2009 THG	Read exemption logs; documents Block; email C. Beyer re: strategy.	160.00	1.20	192.00
04/15/2009 THG	Conference with Cheryl Beyer re: Block v. Gold Bar; memo to Mayor; Council.	160.00	1.10	176.00
CLB	Telephone call from (voice mail) from Mayor Hill; revise attorney-client memo to Council.	160.00	1.00	160.00
04/16/2009 CLB	Write email to City re: attorney memo - Block v. Gold Bar.	160.00	0.25	40.00
04/17/2009 THG	Read 4-21 notice agenda; email L. Kelly; M.Hill.	160.00	0.20	32.00
04/20/2009 THG	Miscellaneous email re: executive session; R. Rammermon.	160.00	0.30	48.00
CLB	Read email to and from Ramsey Ramerman and Thom Graafstra and Mayor re: Joint Defense; telephone call with Ramsey; telephone call with Mayor.	160.00	0.50	80.00
04/21/2009 THG	Conference with Cheryl Beyer re: 4-21 scheduled executive session.	160.00	0.20	32.00
CLB	Forward public documents to Ramsey Ramerman; preparation and attendance at Executive Session; travel.	160.00	2.00	320.00

RE: General

Page: 4

April 30, 2009 b: 3014-00M Account No:

39 Statement No:

04/22/2009		Rate	Hours	
THG	Telephone call from Mayor Hill; email Cheryl Beyer; email from Beyer.	160.00	0.30	48.00
04/24/2009				
THG	Telephone call to Cheryl Beyer re: 4-24 PRA Crittenden; read 2 Block PRA emails; conference call with C. Beyer; R. Rammerman.	160.00	1.00	160.00
CLB	Conference with Ramsey Ramerman; telephone			
	call with Thom Graafstra; telephone call with Mayor Hill.	160.00	3.00	480.00
CLB	Read emails (2); conference with Thom			
	Graafstra from William Crittenden forward to Laura Kelly; write email to City Council.	160.00	0.40	64.00
04/27/2009				
THG	Email C. Beyer re: new PRA Block and strategy.	160.00	0.25	40.00
THG	Read 2 emails re: Block PRA's; email re: need for budget Amendment.	160.00	0.40	64.00
CLB	Telephone call to Mayor Hill; read email re: Block v. Gold Bar and Crittenden PRA requests from Ramsey Ramerman and Thom Graafstra; read email from Joe Beavers; telephone call with Joe Beavers; respond via email to Ramsey Ramerman; read email from Mayor; telephone call from Turner.	160.00	1.25	200.00
04/28/2009				
CLB	Telephone call to Laura Kelly; read email from Laura Kelly re: PRA Block 04/21/09 response; respond via email.	160.00	0.30	48.00
CLB	Telephone call to Laura Kelly; conference with Thom Graafstra; telephone call with Ramsey			

Ramerman re: Cr. Henden PRA Council minutes email and 04/24/09; read email from

Page: 5 April 30, 2009 o: 3014-00M

Account No:

Statement No:

39

RE: General

	Ramsey Ramerman re: proposed language; write Responsive letter PRA Crittenden, Council minutes; write 5 day PRA 04/24/09 - send via email; read emails from Ramsey Ramerman	Rate	Hours		
	Notice of Appearance/Letter/Declaration service.	160.00	1.50	240.00	
THG	Read 3 emails re: PIR - assistance computer; conference with C. Beyer.	160.00	0.25	40.00	
04/29/2009	D 10 " ( 0 " )				
THG	Read 3 emails from Crittenden.	160.00	_0.20	32.00	
	For Current Services Rendered		31.55	4,968.00	
	Recapitulation				
	Timekeeper	<u>Hours</u>	<u>Total</u>		
	Thom H. Graafstra	11.50	\$1,815.00		
	Cheryl Beyer	20.05	3,153.00		
	Total Current Work			4,968.00	
	Previous Balance			<b>CE 044 00</b>	
	rievious balance			\$5,044.00	
	<u>Payments</u>				
04/15/2009	Payment - thank you			-5,044.00	
	Balance Due			\$4,968.00	

Weed, Graafstra & Benson, Inc., P.S. 21 Avenue A Snohomish, WA 98290-2962 360-568-3119 Fax 360-568-4437 Fed ID # 91-0867190

Page: 1 April 30, 2009

Account No:

3014-01M

Statement No:

3

City of Gold Bar 416 Orchard Gold Bar WA 98251-0107

RE: Litigation

## <u>Fees</u>

04/02/2000		Rate	Hours	
04/03/2009 CLB	Telephone call to Mayor re: Block v. Gold Bar possible executive session.	170.00	0.50	85.00
04/10/2009 CLB	Conference with Mayor; revise email to Crittenden re: Block v. Gold Bar.	170.00	1.25	212.50
04/13/2009 CLB	Read email from Crittenden; forward to City; telephone call with Thom Graafstra re: Block v. Gold Bar.	170.00	0.35	59.50
	For Current Services Rendered		2.10	357.00
	Recapitulation Timekeeper	Hours	Total	
	Cheryl Beyer	2.10	\$357.00	
	Total Current Work			357.00
	Balance Due			\$357.00